Rocky Mountain Emergency Vehicles

3038 S Specialty Circle South Salt Lake, UT 84115

ROCKY MOUNTAIN EMERGENCY VEHICLES

Estimate

Date	Estimate #
10/14/2021	1124

AMBULANCE SALES

Name / Address	
City of Ely Bodic Golla 1780 Great Basin Blvd. Ely, Nevada 89301	

Description	Qty	Rate	Total
Cradlepoint	6	1,012.50	6,075.00
IBR 900 Wi-Fi over LTE, First Net capable, Dual SIM capable. Cradlepoint IBR900-1200 B Router with CBRS MA1-0900120B-NNA	į		
GPSD+/C29/C32/C23/CABLES KIT			
Panorama 5/1 Antenna - Through Mount - molded - White (2 X	0	310.00	1,860.00
LTE, 2 X Wi-Fi. 1 X GPS) Router Antenna.	٥	325.00	1,950.00
Smooth Talker Cell Booster	6	458.75	275250
BMUX650Pi 8517.18.00.50 Transmission Apparatus Mobile X6	١	436.73	2,752.50
4G LTE	İ		
6 Band Wireless X6 50db 1pc DCH6i, 1pc SRP1X	i		
1 SEM2THX 8529.10.40.40 Antenna for Telecommunications	6	43.75	262.50
MCT		1	
fem 2" dual-band 14ft through hole. Cell Booster Antenna.		1	
RAM® Skin™ Key-Locking Power + Dual USB Data Cradle for Tab Active Pro	6	174.00	1,044.00
Part#: RAM-HOL-SAM57PD2KLU Dock for Tablet.			
Galaxy Tab Active Pro 10.1" 64GB (Unlocked)			
SM-T547UZKAXAA - Rugged Tablet - includes Pen, Case.	6	747.00	4,482.00
Charge Guard power supply - tablet power and charging only.		152.50	
Timer - shutoff - programmable	6	153.70	922.20
RAM® Tab-Tite™ Holder for GDS® Keyboard™	6	69.25 35.49	415.50
Part#: RAM-HOL-TAB-KEYU	Y	33.49	212.94
RAM® Double Ball Mount with Two Round Pales	6	59,99	359.94
Part#: RAM-101U		37.77	337.74
RAM-KB2-USB Keyboard with Track Pad.	6	293.00	1,758.00
Installation - Mobile (Ely NV)	54	95.00	5,130.00
Installation Materials	6	110.00	660.00
Shipping Charges	6	27.00	162.00
		Total	

Rocky Mountain Emergency Vehicles

3038 S Specialty Circle South Salt Lake, UT 84115

ROCKY MOUNTAIN EMERGENCY VEHICLES

Estimate

Date	Estimate #
10/14/2021	1124

AMBULANCE SALES

Name / Address	
City of Ely Bodie Golla 1780 Great Basin Blvd. Ely, Nevada 89301	

		N	-
from Ely NV (7 Hr per trip).			
install keyboard, install keyboard mount, install 5-in-1 antenna on roof, install Cradlepoint, install SmoothTalker cell booster, install cell booster antenna on roof, install all peripheral power included. Drive Time for 2 Technicians to and			
Description Mount and install Charge guard to factory battery. Install Ram-Skin on tablet, Install tablet mounting bracket,	Qty	Rate	Total

verizon/

70 to commendar 50.00 sale strop or og trag

Hi CITY OF ELY, please review your quote.

This quotation is based on the terms and conditions of the NASPO Value Point (NVLPT) #MA152-1 Contract (fixe WSCA) ("the Agreement"). The NVLPT Agreement, Addenda and Attachments can be found on www.naspevaluepoint.org site for your review.

Quote ID Store location Creation date Expiration date

13259398-Q-NA 0067301 10/12/2021

zayn | 4122953007 | zayn.dornbrook@verizonwireless.com

Quote details

Here is a summary of your quote for devices and service. The pricing quoted is based upon achieving and maintaining a minimum line attainment and signing a major account agreement with Vention.

22% Service plans

25% Accessory

15,000+ Line attainment

Device & accessory summary

Devices	Quantity	Full Retail Price	Pricing option	Special offer	Price per unit	Due today	Due
Bring Your Own Device - Router	6	50.00	Bring Your own device	-	Sū	\$0.00	\$0.00

Plans & feature summary

Service	Quantity	Service contract	Special offer	Price per unit	Due today	Due monthly
4G Mobile Broadband Unlimited	6	Month to month	•	\$39.99	\$0.00	\$239 94

Software

Products	Pay Frequency & Term	Auto renew	Quantity	Unit price	Special offers	Subtotal
Broadband Hotspot Management	Monthly	NES				\$8.94
	MONUNA	No	G	\$1.49		Dise on next bill

Information:

^{*} Total Due yearly covers all type of yearly subscription options. For example Yearly & Multi yearly If Auto Renew selected. Subscription will automatically renew each expiration date

Sub-to	leto
Sales	lax

\$0.00 50 00

Total due Today \$0.00

Total due monthly \$248.88

Total due yearly* \$0.00

One time charges \$0.00

\$ 2,879. 28 / YEAR



Sun Ridge Systems, Inc

To:

Asst. Chief Bodie Golla, City of Ely Fire Department

From:

Carol Jackson

Subject:

Quotation for RIMS Software

Date:

April 23, 2019

The following is a quotation for RIMS software based upon your recent request to Bryan Morehouse. The price for In-Station Mapping software includes licenses for the WPCSO since it is assumed they will be using these maps in dispatch on your behalf.

Item	Price
RIMS In Station Mapping Software (See Mapping note)	\$11,000
iRIMS Fire Mobile App Software	\$4,000
Mapping Data Engineering Services	\$2,500
Installationa via Phone and Remote Access	\$1,640
First Year Support and Updates	\$2,580
TOTAL	\$21,720

iRIMS/Fire will run on the Apple iPhone and iPad plus Android phones and tablet computers. iRIMS/Fire is not a substitute for Mobile RIMS nor is it "RIMS" running on an iPhone or iPad device. iRIMS/Fire is a mobile app with a rapidly expanding portfolio of RIMS functionality.

Mapping. Our In Station Mapping product requires ESRI ArcView or Google maps. Our price does not include the cost of the ArcView licenses. ESRI ArcView maps require a source data file provided by you. If you choose to use Google Maps as your map source, Sun Ridge Systems pays the licensing fees to Google; there is no charge to you.

If you purchase ArcView, you will need one copy of ArcView GIS v10.1 (or later) that can be used for the first position, and then a copy of ArcGIS 10.1 (or later) Engine for each additional in-station that will use RIMS Mapping.

If you choose to use Google Maps exclusively, the "Map Data Engineering" can be deducted from this quotation.

This quotation is valid for 90 days and may change thereafter. If you have any questions please call me at 800-474-2565. Thank you for your continued interest in RIMS.

NEVADA NORTHERN RAILWAY

A NATIONAL HISTORIC LANDMARK





Depot: 1100 Avenue A, Ely, Nevada 89301 Mailing Address: PO Box 150040, Ely, Nevada 89315

Voice: (775) 289-2085 • Web: www.nnry.com • E-mail: info@nnry.com



Monthly Operations Report for October 2021

- 1. Locomotive Status Updated
 - a. Locomotives in service: #81, #93, #105, #109, #204, Wrecking Crane A & Rotary B.
 - b. Locomotive 40 is out of service for her heavy repairs and will be out of service until 2023.
 - c. Locomotives out of service needing moderate repairs: #310 and #45
 - d. Locomotives waiting funding for restoration: Steptoe Valley Smelting and Mining #309, Kennecott 801 and Rotary Snowplow B (for boiler overhaul.)
 - e. Locomotives out of service needing heavy repairs #802, #80 and the military locomotives.
- 3. Rolling Stock Status No change
 - a. Passenger equipment in service: #07, #08, #09, Flatcar #23, Coach #5, Baggage Car/RPO #20, Outfit Car #06.
 - b. Passenger equipment out of service: #10, #2 and #05 needing heavy repairs.
 - c. Cabooses in service: #3, #6 and #22 are operational.
 - d. Cabooses out service: #5
- 4. Track Status No change
 - a. Keystone Branch is open
 - b. Adverse Branch is open.
- 5. Ridership and Ticket Sales Updated
 - a. In September we carried 2012 passengers. This is an increase of 28% over 2020, and an increase of 28% over 2019. September was largest September we have ever had. After softening in August, September followed the trend from June and July, another record month.
 - b. Year to date we have carried 12,318 passengers. This is an increase of 89% over 2021 and a 15% over 2019. In fact we have carried more passengers this year than we did in all of 2020.
 - c. Since operations began in 1987, we have carried 324,642 passengers.
- 6. Social Media: Our reach on social media continues to expand, in the last 28 days:
 - a. We reached 3,561,929 people, a 10% decrease.
 - b. Post reach was 390,194, a 10% increase.

Award Winning Destination

Best Tour in Rural Nevada – 2017 Nevada State Treasure – 2013 & 2012 Best Adrenalin Rush in Rural Nevada - 2020

Best Preservation Effort in the West • Attraction of the Year – 2012

Trip Advisor Certificate of Excellence – 2020, 2019, 2018, 2017, 2016, 2015, 2014

Best Museum in Rural Nevada – 2020, 2017, 2016, 2014, 2013, 2010, 2009, 2008

Best Event in Rural Nevada – The Polar Express – 2017, 2016, 2015, 2014 & 2013

Best Place to Take the Kids in Rural Nevada 2020, 2019, 2018, 2015, 2014, 2013, 2012, 2011, 2010, 2009, 2008, 2007

- c. Our page likes increased 767, a decrease of 63%
 - d. We have 113,049 page likes.
 - e. 140,759 people follow our page.
- 7. Locomotive 81 Status Locomotive 81 is back in service!



We now have two operating steam locomotives once again!

8. 201 - 401 Bring'em Home

We have been offered the chance to bring home - not one, but two of our original, very significant diesel locomotives, Locomotive 201 and Locomotive 401!

But, there is a catch! We will have to pay the transportation costs to bring'em home. The estimated cost of the move is just over \$250,000. As of October 12, we raised an incredible \$112,589! That covers 450 miles of our 1,008 mile trip or 45%!



9. Southern Nevada Public Lands Management Act (SNPLMA) Round 18 Grant.

White Pine County has been awarded a \$10,168,421 Southern Nevada Public Lands Management Grant (SNPLMA) grant to open the Nevada Northern Railway track to the McGill Depot! The project is multi-faceted:

- Rehabilitate and restore to operation 16.35 miles of historic railroad track from Ely to McGill Nevada, including the highway railroad crossings to Federal Railroad Administration Class 2 standards.
- Complete the McGill Depot restoration to include three restrooms.
- Build a parking lot at the McGill Depot 10,000-15,000 square feet with lighting.
- Build a railroad turntable at the McGill Depot to turn the locomotives around.
- Build a .5 to a .8 mile lighted walking trail with outdoor displays at the McGill Depot area.
- Combine the existing trail system parallel to the railroad's right-of-way with six designated safe crossings of the railroad track.
- Grade 10,000 feet of a multiuse trail within the railroad right of way between Ely & McGill joining existing trails located on BLM land.
- Purchase four electric-railbikes.
- Install directional signage for trail users along the trail system.





